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Which of the following statements is incorrect?

Assets — Liabilities = Capital
Capital — Liabilities = Assets
Assets = Capital + Liabilities
Assets — Capital = Liabilities
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[Towa amd T1g Topakdte Kataotdoelg eivor Aavlaopévn;

Evepyntikd — IMabntucod = Kepdhoto
Kepdrawo — Iabntikd = Evepynrikd
Evepyntiké = Kepdiaro + [Tabntucod
Evepyntikd — Kepdrawo = [Tabntico
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Which one of the following is a nominal account?

Purchases

Motor vehicles

F. Smith, a debtor
Bank

gaQw»

[To1og 0md TOoVg TOPAKAT® EIVAL ATOTEAEGLOTIKOG AOYAPLOGUOGC;

Avyopég

Metagopikd oynuota

F. Smith, évag ypedotng
Tpdmela

> 1w

Unsatisfactory goods are returned to the supplier. This is recorded in the
accounts as:

Debit Credit
A Sales returns a/c Supplier’s a/c
B  Purchases returns a/c Supplier’s a/c
C  Supplier’s alc Purchases returns a/c
D  Supplier’s a/c Purchases a/c

AKOTOAANAO, EUTOPEVATO, EXIGTPEPOVTOL GTOV Tpounbevty. AVTo
KOTOYWOPELTOL GTOVG AOYOPLOGHOVG G EENG:

Xpemvetal IIictovetan
A AJopog emotpoég [loincewmv A/opog HpounBevtn
B AJopdg emotpopés Ayopmv A/opog HpounBevtn
I'  AJopog HpounBevt Alopdc Emotpoeéc Ayopav
A Alopdg Ipounbevty Alopdg Ayopav




Which one of the following accounts is not contained in General Ledger?

A Bank A/c

B Purchases Returns A/c
C Vehicles A/c

D Loan Alc

[Motog 0md ToVg TOPAKAT® AoYopLacUovS dev cvumeptAapfavetol oto [evikod
Kobohlko;

Alopog Tpameloa

Alopdc Emoetpopég Ayopav
Alopdc Oynuato LETOPOPDV
Alopdg Advera
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A business sells goods with a retail value of £500. The customer is allowed 20
per cent trade discount, and a cash discount of 2,5 per cent for settlement
within seven days. If the invoice is settled within the seven-day period, and
ignoring VAT, the business will receive a cheque for:

A £487,50
B £400,00
C  £390,00
D  £387,50

Mua emiyeipnon nolel epmopedpoto Aovikng a&iog £500. Ztov meddtn
yopnyeitar 20 To1g EKATO EUTOPIKY] EKTTMOT], KOl TOULOKT] EKTTOGT] 2,5 TO1G
€K0TO o€ TTEPITTOOT e£OPANGCNG EVTOG EXTA NUEPDV. AV TO TILOAOYIO
eEoQANDEL EVTOG TNG TEPLOOOV TMV EMTA NUEPDV, Kot ayvomvtag To PITA, n
emyeipnon Ba Adfel emitoyn yo

A £487,50
B £400,00
'  £390,00
A £387,50

Which one of the following expenses is not normally allowed to be paid from
petty cash?

A Casual wages

B Staff tea and coffee

C  Window cleaning

D  Small items of stationery

[To1o amd o Tapakdtom £€0da dev emTpémeTor cuVNOMG Vo TANPAOVETAL OO TO
pucp6 Tapeio;

[leprotaciakd (1 svkoplakd) nuepopicOio
Todylo kot KapEdEG TPOSMMIKOV
Kofdapiopa [Hapabopwv

Mikpomocd ypagikng VANG
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What is the amount of capital, given the following information?
Buildings £30000, Stock £5600, Bank £750, Creditors £2200, Loan from N.

Clark £7,000:
A £29150
B  £36350
C £41150
D  None of the above

[To1o etvar to 1066 TOLV Keparaiov, cOUPOVA pE TIC TAPAKATO TATPOPOPIES;
Axivnra £30000, AnoOepa £5600, Tpanela £750, [Tiotmtég £2200, Advelo
ano N. Clark £7000:
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£29150
£36350
£41150
Kovévo amd ta mo Tave

Originally we bought 80 items at £60 each, less trade discount of 25 per cent.
We now return 5 items, so we will issue a debit note amounting to:

ogaQw»

£270
£240
£225
£220

Apyca ayopdoape 80 tepdyio tpog £60 10 Kabéva pElOV EUTOPIKT EKTTOON
25 101 ekotd. Topo emoTpEPOVLE TO 5 TEPAYLO, Kot EKdIdoVUE Eval
YPEDGTIKO CUEIO O TOGOV:
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£270
£240
£225
£220

When a separate provision for depreciation account is in use, then book-
keeping entries for the year’s depreciation are:

Caw»

Debit Provision for depreciation account: Credit Profit and loss
Debit Profit and loss: Credit asset account

Debit asset account: Credit Provision for depreciation account
Debit profit and loss: Credit Provision for depreciation account

Orav ypnoponoteiton Eeymplotdg Aoyaplacpog «IIpoPreyn yo amodcPeon»,
01 AOYIOTIKEG EYYPAPES Yo TNV €TNO0 andoPeon givar:
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Xpémon Alopo? IpdPreyn v andoPeon: [lictwon A/cpod AnotehespiTov
Xpémon Alopod Amotedeopdrov: Ilictwon Ilepiovoiakol otoyeiov

Xpémon meplovoiakod otoryeiov: Ilictwon A/opov Iporeyn yio amdcPeon
Xpémon Alopod Amotedeopdrov: Ilictwon A/opov Iporeyn yio amdcPeon




10.  When final accounts are prepared, the Bad Debts Recovered account is closed
by a transfer to the:
A Debtors account
B  Profit and Loss account
C  Trading account
D  Provision for bad debts account
10.  Ortav gropndlovral ot tedkoi Aoyapracpoi, o A/opog Eionpaln Awoypagpeicmv
aroutoewv Bo Kieloel petapepoOpevos 6To:
A Alopd ypewotov
B A/opd Amoterecpdtov
I'  A/opd Expetdiievon
A Alopd IpoPreyn v Andreleg Xpemotov
11. Given this year’s closing capital as £29360, the year’s net profit as £8460 and
drawings as £5320, what was the capital at the beginning of the year?
A £29360
B £26220
C  £34680
D  None of the above
11. Av 10 TEMKO KeAAao g ypovids givan £29360, 1o kKabBapd kEPSOG NG
ypovidg £8460 kot o amoAnyelg £5320, To10 NTAV TO APYIKO KEQPAAULO TNG
YPOVIAG;
A £29360
B £26220
I £34680
A Koavéva amd ta mo mhve
12. The owner of the business transfers a computer to the business from his
personal assets. This is recorded in the accounts as:
Debit Credit
A Computer account Capital account
B  Purchases account Capital account
C  Capital account Computer account
D  Computer account Sales account
12 O 180kt Ng o emyeipnong petafipdlel oy emyeipnon Eva NAEKTPOVIKO

VTOAOYIGTN aTd Ta. KA TOV TEPLOVCLOKE GTOLYEID. AVTO KATOXWPEITOL GTOVG
AOYOPLOGHOVS MG EENG:

Xpemvetal IIictoveran
A AJopog Hiextpovikmv YToAoyloTtdv A/opog Keparaiov
B AJopog Ayopav AN/opog Keparaiov
I'  AJopog Keparaiov A/opog Hiextpovikdv
YmoAoylotdv

A Alopdg Hhextpovikemv YmoAoyiotdv A/opog loinoewv



13. A petty cash book is balanced at the end of each week and the cash float
restored by the main cashier. At the start of a particular week the cash float is
£50. Petty cash vouchers for the week total £34,56. How much will be
received from the main cashier at the end of the week?

A £50.00
B £15.44
C  £3456
D  £84.56

13. To Mkp6 Tapeio elomvetar 6to TEAOC KAOe efdopddag Kot To amddepa
petpnT®V amokadiototor amd To peydlo topio. Xtn apyn Ka0e GUYKEKPILEVNC
efdouddag o andbepo petpntav eivar £50. Ta evidipoto TANpOUIG
HKpomocsmv g efdopdadag avépyovtor o £34,56. [oca petpntd mpénet vo
elompasel amd to peyaro tapio oto TéAog G efdopddas;

A £50.00
B £15.44
' £34.56
A £84.56
14. Wages accrued are shown as a:
A current asset in the balance sheet
B  debit balance in wages account
C  fixed asset in the balance sheet
D  credit balance in wages account
14. Ta opelopeva nuepopicOia eppaviovior wg éva:
A Kvxkhogoprokd ototyeio otov Icoloyiopd
B  Xpewotikd vrorowmo 6to Aoyaprocud HuepopicOia
I'  Tléyo otoryeio otov 1I6oloYIoUO
A Thototiké vadiouro otov Aoyapracpd HuepopicOia
15. A trial balance shows debtors of £48000 and a provision for bad debts of

£2200. It is decided to make the provision for bad debts equal to five per cent
of debtors. What book-keeping entry will be made on the provision for bad
debts account?

A debit £200
B  debit £2400
C  credit £200
D  credit £2200



‘Eva Iooliyio delyvel ypemoteg £48000 kot TtpoPAeyn OnOAEDV 0O
emo@oeic ypemoteg £2200. Amogoaciletar n TpoOPAEYN ATOAEIDV OTO
EMOPUAEIC YPEMOTEG VO, Yivel iom PE TO 5 101G ekatd TV ¥pemotdv. [lowa
AOYIoTIKY €yYpa@T| Oo TPEMEL va Yivel 6TO AOYOPLOGUO TPOPAEYT OTOAEIDY
a7to EMGPUAEIG YPEDOTEGS;

ypéwon £200
ypéwon £2400
nictoon £200
nictoon £2200
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Which one of the following transactions will not be recorded in the general
journal?

Credit purchase of a fixed asset

Credit sale of goods to a customer

Write off of a bad debt

Transfer of expenses to Profit and Loss account

ogaQw»

[Towa a6 T1g mopakdte cuvailayég dev Ba kKataywpnbei oto yevikd
NUEPOAOYIO;

Avyopd mdyrov ctoyyeiov e Tiotmon

[MoAnon eumopevdToOV g TEAATY LE TIGTMOOT)
Awrypaon ammAglog xpEong

Metagopd e£6dmwv 6t0 Aoyaplacud Arotelecudtov
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You have the following information:
® Opening creditor balances at the start of the month £18600

e Cash/cheques paid to creditors during month £ 9400
e Purchases returns £ 800
e (Creditor balances at the month-end £17500

What is the amount of credit purchases for the month?

A £9100
B  £9700
C  £10000
D £11300

Me Bdon Tig TapaxdTm TANpoPopies:
®  ApyiKd vmoAOUTO MGTOTMOV 6To Egkivnua tov pnve.  £18600
o Metpnrd/emtayés KatafAn0EvTa 6TOVG TIOTOTEC

KaTd TN S18pKELD. TOL UAVA £ 9400
o  Emotpopés ayopmv £ 800
*  YmOAOUTO, TIGTOTMV 6TO TEAOC TOV UNVoL £17500

[Tow &tvar o m0Gd TV ayop®dV e TGTMOGCN TOL PNV,

A £9100
B £9700
'  £10000
A £11300



18. Which one of the following would you not take into account when calculating
working capital?
A machinery
B  cash
C  debtors
D  accruals (expenses)
18. [To1o amd ta Tapakdro dev Bo cupnepLaPElg GTOV VTOAOYIGUO TOV
Kepaiaiov kivnong;
A pnyovhpoto
B perpnta
I' ypewoteg
A Ogpelopeva (¢£o0da)
19. The straight line method of depreciation consists of:
A Unequal amounts of depreciation each year
B  Increasing amounts of depreciation each year
C  Reducing amounts of depreciation each year
D  Equal amounts of depreciation each year
19. H evbeia pébodog amdcPfeong cuviotarton amd:
A Avica mood ondcsPeonc kdbe ypovo
B Av&avopeva mocd andcPeong kabe ypovo
I'  Mewvoueva mocd omdcPeong kdbe ypovo
A ’loa mocd amodcPeong kKabe ypdvo
20. In the trading account, the returns inwards should be:
A Added to cost of goods sold
B  Deducted from purchases
C  Deducted from sales
D  Added to sales
20. >10 Aoyaproopd Expetdiievon Epmopevpdtmv, o1 emotpopic omd meldteg

Oo mpémel vai

[IpooteBovv 610 KOGTOG TV TOANBEVTMV EUTOPELUATOV
Apapebolv amod TIc ayopég

Apapeboldv amod TIC TOANCELG

[IpooteBovv otig TwANCELS

> =W >




21.

21.

A debit balance of £125 on the bank account in a firm’s book-keeping system

means:

The firm has money in the bank of £125
The firm is overdrawn at the bank by £125
The owner’s capital is £125

The balance of cash held by the firm is £125

Caw»

"Eva ypemotikd vmoroumo £125 tov Aoyoplacspol tpdmnelo 610 AoyloTIKO

cUGTNUO Lo EmLyeipnong onuaivet Ot

H emyeipnon €xer ypnpota oty Tpdmelo £125

H emyeipnon €xer mapotpafmypa oty Tpdmrela £125

To xepdAaio Tov W10kt ivon £125

To vroromo peTpnT®V TOL KPaTA 1 EMyeipnon eivon £125
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22.

22.

The primary accounting record for a credit note received from a supplier is:

Purchases returns day book
Sales day book

Sales returns day book
General journal

oaQw»

H apywn Aoyiotikn gyypaen yio évo mMoTOTikO onpeiopa Tov AapfaveTol

and éva moTeT Yivetol 610:

BifAio emotpo@idv ayopdv
Bifiio toAncemv

BifAio emotpo@dv ToANcEDY
I'evikd nuepordylo

1w

23.

The following account is given:

Dr Rates A/c

Cr

2005 £ | 2005

1 Jan Balance b/d 450 | 31 Dec. Profit & Loss A/c

15 May Bank 1200 | 31 Dec. Balance c/d

20 Nov. Bank 1200
2850

2006 2006

1 Jan. Balance b/d 600

From the above account, the balance on 1 Jan. 2006 is:

Rates prepaid

Rates for the year ended 31 Dec 2005
Rates accrued

A refund due

oaQw >

2250
600

2850



23.

Aiveton o To KAT® AoYaplocHoc:
Xp Alopog Tehov Mo

2005 £ 2005 £
1 Tav. Yrodoumo €1¢ véo 450 | 31 Aex. A/opdc AmoterecUATOV 2250
15 Mailov Tpdmela 1200 | 31 Aek. Yrndhowmo mpog e&icmon 600
20 Noguppiov Tpanela 1200
2850 2850
2006 2006
1 Tav. Yrodoumo €1¢ véo 600

Amo oV o TAVe Aoyoaplacuo, to voiouto g 1 Iavovapiov 2006 sivar:

TéA mpomAnpwbévta

TéAn yia T0 étog mov Anyet 31 Aek. 2005
TéA opelldpeva

"Eva opellopevo emotpentéo mocod

1w

24.

24.

The profit and loss account of a business has been prepared showing a net loss
of £2350. A reduction of £150 in the provision of bad debts should have been
made and bad debts of £70 should have been written off. Net loss will now
be:

£2130
£2270
£2430
£2570

gaQw»

O Aoyoplacpog kepdav Kot Znumv mov £xel cvvtaydet delyver kabapn Inid
£2350. Mo peioon £150 oty Tporeyn anwieldv ond emo@aln xpén o
TPETEL VO, YIVEL, KoL andAeleg ypemotdv £70 Oa npémel va daypagovyv. H
kaBapn (nuid petd Tpémel va eivorl:

£2130
£2270
£2430
£2570
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25.

The following are the year end balances in business ledgers:

£
Sales 628000
Cost of Sales 458000
General Expenses 138000
Creditors 54000
Debtors ?
Cash at bank 61000
Capital 86000

If the trial balance balances, what is the missing figure for the debtors?

A £61000
B £111000
C  £233000
D £387000



25. Ta mopakdTo eivaol To TEAKA TG0 VTOAOITO. GTO KOOOAKE Log
emyeipnong:
£
MoAnoceg 628000
Koaotog IMMoincewv 458000
Tevikd €06 138000
[Mototég 54000
Xpedoteg ;
Metpntd oty Tpdmela 61000
Kepdraro 86000
Av 10 [ool0y10 1600KELITEL, TO10 EIVOL TO EAAEITOV TOGO TMV YPEMOTOV;
A £61000
B £111000
' £233000
A £387000
26.  Which of the following should be classified as current liabilities?
(1) Trade debtors
2) Bills payable
3) Trade creditors
@) Drawings
A land2
B 2and3
C 3and4
D 2and4
26. IToto amod to mapakdto tagvoueitar g Bpayvapoespo Tabntikod;
M Epmopikoi ypedoteg
2) Ipoppdrtio TAnpotén
3 Epmopikoli miotwtég
G AmoAyeELg
A lxo?2
B 2xm3
' 3xom4
A 2xu4
27.  Which of the following correctly calculates cost of sales?

oaQw >

Purchases + Opening Stock + Closing Stock
Purchases — Opening Stock + Closing Stock
Purchases — Opening Stock — Closing Stock
Purchases + Opening Stock — Closing Stock



27.  Iow and to mapakdrm ophd vroroyilel 10 KOGTOG TOANCEWV;
A Ayopéc + Apycod AmoBepa + Terucd AndOepa
B Ayopéc— Apywkd Andfepa + Telkd Amobepa
I'  Ayopéc— Apykd AndBepa — Tehkd AndOepo
A Ayopéc + Apykod AmoBepo — Telkd Anofepa
28. A business compiling its financial statements for the year to 31 July, each year
pays rent quarterly in advance on 1 January, 1 April, 1 July and 1 October
each year. The annual rent was increased from £60000 per year to £72000 per
year as from 1 October 2003.
What figure should appear for rent expense in the business profit and loss
account for the year ended 31 July 2004?
A £69000
B £62000
C  £70000
D  £63000
28. Mua emiyeipnon mov GLVTAGGEL TIG OIKOVOULKES TNG KOTAoTAGEL TV 31
IovAiov kd0e £Tovg, TANpmVEL Evoikio Yo kdBe TpES Pveg TpokaTaBoAtkd
v 1 lavovapiov, 1 Ampidiov, 1 TovAiov kot 1 OktwPBpiov kdbe étove. To
€t o10 evoikio avéndnke amd £60000 to £1oc oe £72000 to0 €106 A6 1
OxtwpBpiov 2003.
ITo1o moG6 Yo €060 evoikiov Ba eppaviotel 6to A/opd Amoteréopota
Xpnong g entyeipnong yio to £10g mov Aryetl 31 TovAiov 2004;
A £69000
B £62000
r  £70000
A £63000
29. Clark has just started-up a business. He introduced £10000 of his own

savings, equipment worth £2500 and obtained a bank loan of £1000.

What is the correct balance on Clark’s Capital account following these
transactions?

A £10000
B £13500
C  £12500
D  £11000



29. O Clark poric dpyioe pia enyeipnon. Ewoépepe £10000 and Tig
ATOTOUIEVGELG TOV, e€omAtond a&iag £2500 kot eacpdiioe Tpanelikd davelo
£1000.

IToto &lvar to 0pB6 vdomo Tov Aoyaplocuov Keporaiov tov Clark petd tig
OUVOALOYEG QVTEG;

A £10000
B £13500
I £12500
A £11000

30.  Julia buys a dress costing £119, shoes costing £59.50 and a jacket costing
£187. These are all net figures, exclusive of trade discount at 15%.

How much trade discount in total has Julia gained?

A £64.50
B £54.83
C  £44.48
D  £58.50
30. H Julia ayopdlet éva popepa mov xootilel £119, mamovtoia wov Kootilovv

£59.50 o o Laxéra mov kootilet £187. Ola avtd eivon mosd Kabapd,
a@apoLUEVNG 15% eumopikng EKTTmong.

[Toom gumopikn ékmtwon cvvolka 1 Julia £yel emmEeAnOet;

A £64.50
B £54.83
' £44.48
A £58.50

Good Success — KaAn Emtoyia




